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Q: 1 - In the following question, some part of the sentence may have errors.
Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.




* He cooked the (1)/ dinner and (2)/ than put the radio on. (3)/ No
error (4)

1)1
¢ 2)2
°3)3
. 4) 4

* Answer: 3




* Proteins are providers of energy in an emergency, (1)/ and are
primarily used as building blocking (2)/ for growth and repair of many
body tissues. (3)/ No error (4)

1)1
¢2)2
*3)3
. 4) 4

* Answer: 2




Q: 3 - In the following question, the sentence given with blank to be filled in with
an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.




Anita her work by the time he came.

* 1) had done

e 2) has done

* 3) is done

* 4) would done

e Answer: had done




Q: 4 - In the following question, the sentence given with blank to be filled in with
an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.




* He won’t pay the rent how many times his landlord berates
him.

* 1) seeing as

* 2) however

e 3) although
* 4) no matter
* Answer: no matter




Q: 5 - In the following question, out of the given four alternatives, select the one
which best expresses the meaning of the given word.




* Hackneyed

e 1) Tired
e 2) Fresh

* 3) Unhcommon
* 4) New

 Answer: Tired




Q: 6 - In the following question, out of the given four
alternatives, select the one which best expresses the
meaning of the given word.




e Accede

e 1) Admit
e 2) Submit
* 3) Grown

e 4) Consent

e Answer: Consent




Q: 8 - In the following question, out of the
given four alternatives, select the one which is
opposite in meaning of the given word.




* \Wholesome

* 1) Impure
 2) Healthy
e 3) Pure
e 4) Safe

* Answer: Impure




Q: 9 - Rearrange the parts of the sentence in
correct order.

* The invention of the turbine by

* P: the beginning of jet transport
* Q: Ohain in Germany in 1939 signalled
* R: Frank whittle in England and Hans von

* 1) QRP
* 2) RQP
* 3) PQR
* 4) RPQ
* Answer: RQP




Q: 10 - A sentence has been given in Active/Passive Voice. Out of the four given
alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.




* One can achieve reward by hard work.

* 1) Reward could be achieved by hard work.
 2) Reward is needed for hard work.

 3) Reward is achieved by hard work.

* 4) Reward can be achieved by hard work.

* Answer: Reward can be achieved by hard work.




* Choose the response , whichever is the most appropriate expression
and mark your answer accordingly.




A burning question

A difficult problem

* An annoying question

* A puzzling question

* A hotly debated question
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